
1-22. sorularda, boş bırakılan yerlere uygun düşen kelime yada ifadeyi bulunuz.

1-
Some people say that there is no …………… solution to the problem of poverty.

A) 
incessant 
B) 
possible


C) 
wealthy 
D) 
whole

E) 
able 

2-
The tourist caught the wrong bus because she hadn’t ……………     under​stood the directions given to her.

A) 
probably
B) 
closely

C) 
properly
D) 
evenly

E) 
obviously

3-
Before, gaining membership to the club, applicants must …………… the committee that their social statue and background meet the requirements.

A) 
suggest 
B) 
confuse

C) 
volunteer 
D) 
insist

E) 
satisfy

4- 
The once beautiful cottage was now in a dreadful state due to long years of……………  
A) 
care 
B) 
threat

C) 
planning 
D) 
neglect

E) 
avoidance

5- 
Income tax rates are usually …………     to one’s annual income.


A)
related 
B) dependent 


C) 
associated 
D) adapted 


E)
adopted


6- 
I suddenly …………  that I had left my purse with the money at home.


A)
understood 
B) recognised 


C) 
knew 
D) realised 


E)
reminded

7. 
Sorry I’m late, but I got held ………. in the traffic.


A)
up
B)
down


C)
in
D)
on


E)
off

8-
They decided to…………  in a visit to their relations when they were on holiday.




A) 
fill 
B) fit 


C) 
put
D) manage


E)
go

9-
Mary didn’t stay at work very long


today …………… she was feeling unwell.

A) 
but 
B) 
so

C) 
as 
D) 
although

E) 
unless

10-
The Smiths took lots of food with them on holiday ……………    prices were very high at the resort.

A) 
so that 
B) 
even if

C) 
in order to 
D) 
in case

E) 
thus

11-
An enormous variety of plants grow in rainforests ……………     the favourably hot and wet climate there.


A) 
owing to

B) 
because


C) 
despite

D) 
besides


E) 
in contrast to

12-
…………… English are not as reserved as people of …………… countries often 
believe.

A)
Some/others 
B) 
Another/the

C) 
The/other 
D) 
All/whole

E) 
An/ some

13- 
Sarah felt extremely ashamed ……………   what she had done to her brother and her parents were very annoyed ……………  her.

A) 
to/against 
B) 
of/with

C) 
in/for 
D) 
from/to

E) 
by/in

14- 
Cheetahs are capable …………… running at a speed equivalent …………… that of a car.

A) 
for/with 
B) 
with/about

C) 
at/for 
D) 
in/from

E) 
of/to

15-
The main reason ……………    the experiment didn’t work is that it wasn’t conducted with enough attention to detail.

A) 
when 
B) 
whom

C) 
which 
D) 
why

E) 
where

16-
The art gallery was…………… place that we stayed there all afternoon.

A) 
so interested

B) 
such an interesting

C) 
an interested enough

D) 
too interested

E) 
more interesting

17-
James enjoyed …………… the club, but

he felt there were too many rules and regulations ……………    its members.

A) 
to attend/to govern

B) 
attend/governed

C) 
being attended/having governed

D) 
having attended/to be governed

E) 
attending/governing

18-
Unless this outbreak of cholera ……………  rapidly under control we………… ourselves with an epidemic on our hands.

A) 
had brought/might have found

B) 
has brought/could find

C) 
were brought/would be found

D) 
is brought/may find

E) 
would have brought/had found

19-
A lot of houses …………… in the area during the summer months, so it’s a good idea to double-lock your windows and doors.

A) 
are burgled

B) 
burgled


C) 
were burgling

D) 
have burgled

E) 
had been burgling

20-
Only a small number of survivors  ……………     by the emergency services so far since the building     ……………

A) 
were rescued/had collapsed 

B) 
are being rescued/is collapsed

C) 
have been rescued /collapsed

D) 
had rescued/was collapsed 

E) 
were rescuing/has collapsed

21- 
Sebastian said that once he ……………   his military service his father …………… him a new car.

A)
was completed/bought

B)
had completed/would buy

C)
is completed/buys

D) 
will complete/is buying 

E)
 would complete/was buying

22-
Mr and Mrs Eltern, who
………… to Melbourne next year, ……………     in Sydney for fourteen years now.
A)
move/live

B)
will move/are living

C)
are moving/have lived

D)
had moved/have been living

E)
moved/were living

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
The puma is exceeded in size only by the jaguar among cats of the New World. The name (23)........is derived from usage by the Inca Indians. The puma ranges widely from British Columbia to Patagonia, in habitats (24)........ mountains, deserts, and jungles. In many regions, however, local races have been eliminated by humans, and pumas are now generally restricted to wilderness areas. The voice of the puma is like that of a domestic cat but louder. Breeding occurs at any time of year, the female usually (25)........young every other year. The puma eats a considerable range of foods; in North America it demonstrates a preference for deer when they are available. Occasionally it kills livestock, but (26)........ other predators it is valuable in maintaining the balance of nature by preventing overpopulation of prey animals. Though attacks on people are still rare, the growth of residential construction in

wilderness areas (27)........to an increase in

puma attacks in recent years.

23.

A) 
itself 
B) 
of which

C) 
where 
D) 
that of

E) 
its own

24.

A) 
as varied as

B) 
more varied

C) 
so varied that

D) 
varied enough

E) 
such a varied

25.
A) 
to bear       
B) 
born

C) 
being born         
D) 
to have born

E) 
bearing

26.

A) 
alike 
B) 
the most

C) 
rather
D) 
as with 

E) 
throughout

27.

A) 
is leading

B) 
would lead

C) 
has led

D) 
will have led

E) 
will be leading

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
(28);.......climbing expedition to India -

whether Indian, foreign, or joint - is required to apply to the Indian Mountaineering Foundation (IMF) based at Delhi, at least six

months (29)........to departure, (30)........all

the formalities can be completed within the given time frame. Leaders of returning expeditions are required to submit reports, and adequate proof of the climbs, to the IMF. While Indian nationals and IMF-sponsored

joint expeditions (31)........peaks beyond the

"Inner Line", foreign nationals are as a rule

not permitted to do so. (32)........, all

expeditions by foreign nationals are required to be accompanied by an Indian liaison officer at their own expense.

28.

A) 
Most 
B) 
Either

C)
All
D) 
Every

E) 
Both

29.

A) 
once 
B) 
before 

C) 
prior
D) 
after

E) 
similar

30.

A) 
in case 
B) 
whereas

C) 
such as
D) 
so much

E) 
in order that

31.

A) 
were attempting

B) 
can attempt

C) 
have been attempted

D) 
used to attempt

E) 
are being attempted

32.

A) 
As well as 


B) 
Rather more 

C) 
Unlikely

D) 
Additionally

E) 
More than

33-42. sorularda, yarım kalan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33-
Without warning, the bus driver suddenly slammed the brakes on, ……………

A)
and gently moved off into the traffic 

B) 

that he opened the rear door for people to get off 

C)

which caused the passengers to grab the handrails for support

D)
where several cars were damaged in the pile up 

E)
however the traffic lights were changing to red 

34-

…………… as this can pollute their water and cause illness. 


A) 
More and more shipping firms are tightening their safety measures 

B)

Owners should take care not to overfeed their pet goldfish

C) 
In extremely hot weather, sunbathers should use a good quality skin protector

D)

The council is undertaking extensive repairs on the sewage system

E)

Micro bacteria are often found in slow moving rivers 

35-
Until there were no doubts at all that the now drug was safe,     ……………


A)

it also seemed to be remarkably effective

B) 

several people will suffer from its unforeseen side-effects,

C)

it has taken over seven years of research to develop it 

D)
they didn’t allow it to be used on human patients

E) 

the doctors were convinced it would revolutionise treatment methods

36-
Providing that you haven’t made any serious mistakes,    ……………

A) 
you should pass the examination

B) 

with a good mark  it is always important to check your  answers 


C)

the test will be extremely easy for most students 

D)

your French pen friend wont be able to understand the letter you wrote 

E)

the directions you gave me were very difficult to follow

37-
……………    then we must be late for the meeting already.

A)

The chairman said not to worry about being a few minutes late

B)
If the time by my watch is right 

C) 
Unless we can catch a taxi to the station 

D)

The newsletter says that the convention will begin later than usual 

E)
The traffic doesn’t seem to be getting any lighter 

38- 
In order to install the new heating system ………         

A)
that will considerably reduce the bills this winter 

B)
there won’t be enough hot water to take a bath

C) 
the builders had to make a number
of holes in the wall for the pipes

D)

which the upstairs neighbours highly recommended to us

E)
this is the coldest winter we’ve had for years

39.
…… his trouble would turn into a fortune.

A)   
As soon as the fortune-teller has seen Robert

B)   
Little did Morgan know that

C)   
If Julia should meet Pitt earlier

D)   
That Mary's brother predicted the coming events

E)   
It was his mistake to be involved in the crime

40.
In spite of the crew's efforts to float it on the wild and brutal currents of the river…
A)   the vessel was built of timbers so weak

B)   
there were not many rugged rocks to avoid

C)   
they couldn't help flipping the ship over

D)   
they were able to disembark the freighter

E)   
the rescue team saved them from drowning

41.
……….William is able to pick his out.

A) 
That he has a distinguishable automotive

B)   In the park where he never puts his car

C)   No matter how close it is to him

D)   
Whether he has purchased many old cars

E)   
Among numerous and similar cars

42.   ………. until the last shrinkage in its economic status.

A)   
Many poor used to live under low standards of life

B)   
The city has been a centre to steel and its trade

C)   
There occurs to be many migrations to the rural areas

D)   
The income taxes weren't properly collected

E)   
Governmental policies haven't been so influential

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43. 
I'm afraid I cant. Tonight, I've a lot of pa​perwork to cover.

A)  
 Will it be all right with you even after you aren't so much eager to be there at 7 pm?

B)  
What would you say if I asked you to skip the breakfast for today?

C)   
Let's get out to have a gorgeous supper at our usual restaurant, shall we?

D)   
Do you have any recommendation about where we could dine?

E)   
Why weren't you with us at 'Stars' ? It was a special union for us.

44.  It isn’t possible for me to grasp the reason for his being here at this hour of the day, either.

A)  
Why do you think Mr. Cage is in this street by getting around in hurry?

B)   
He must have lost his wallet. Otherwise, he wouldn't be standing over there, wouldn't he?

C)   
How could you explain his girl-friend's presence at the family's door so early?

D)  
To me, he and his friends waited there for kidnapping his girl-friend. Do you think so?

E)   
Do you hope that Mrs. Carnegie will persuade her husband not to abandon her?

45.
Each of us was giving addresses to a small number of people, but later we realized that it wasn’t enough for our objectives.

A)   
What solutions did you expect to produce after working in small groups?

B)   
How did the other people respond to your group's being on the agenda nowadays?

C)  
Why did you four decide to enlarge your reach to a lot of people at the same mo​ment?

D) 
 Was it really hard for both of you to produce unusual methods to tackle the issues from which our people have been suffering ?

E)   
What were your own reasons for committing yourself to changing into a freelance writer from a columnist?

46. 
Yes, but I never went. I was always working.

A)  
Do you believe that the jurisdiction is done in a correct way?

B)   
Have you ever been called for a jury duty?

C)  
What special sort of training did you have?

D)  
Were both of the resorts appropriate enough for family stays?

E)   
How difficult was the job for your employees?

47-50 . soruları, İngilizceden Türkçeye çeviriniz.

47-
The parents’ having an excessively protective attitude towards the child prevents his personality from developing healthily.

A)

Çocuğun sağlıklı bir kişilik geliştirebilmesi için, anne-babanın ona karşı çok fazla koruyucu davranmaması gerekiyor.

B)

Çocuklarına karşı hep koruyucu bir tavır içinde olan anne-baba, onun sağlıklı bir kişilik geliştirmesini engellemektedir. 

C)

Eğer anne-baba çocuklarının sağlıklı bir kişilik geliştirmesini istiyorlarsa, ona karşı aşırı koruyucu bir tavır içinde olmamalıdırlar. 

D) 
Anne-babanın çocuğa karşı aşırı koruyucu bir tavır içinde olması, onun kişiliğinin sağlıklı gelişmesini engeller.

E)

Çocuğun sağlıklı bir kişilik geliştirebilmesi, anne-babasının kendisine nasıl davrandığına bağlıdır. 

48-
It’s an undeniable fact that tree-plantings the most effective means in the fight against erosion.

A)

Erozyona karşı mücadelede ağaçlan​dırmanın en etkili yöntem olduğu inkar edilemez bir gerçektir.

B)

Ağaçların erozyonu önlemede en etkili yöntem olduğunu hiç kimse inkar edemez.

C)
Erozyonla mücadele etmek için ağaç


dikmekten daha etkili yöntemler bulmak 

zorunda olduğumuzu kabul etmek 

zorundayız.

D)

Daha çok ağaç dikilmediği sürece erozyona karşı verilen mücadelenin



etkili olamayacağı açıktır. 

E) 
Erozyona karşı mücadelede en yaygın olarak kullanılan yöntem ağaçlandırmadır.

49-
Various studies have shown that women suffer depression more often, yet the suicide rate is higher among men.

A)

Kadınların daha sık depresyona girdiği bilindiği halde, intihar oranının erkeklerde daha yüksek olduğu görülmektedir.

B)

Çeşitli araştırmalar, kadınların daha sık depresyona girdiğini ama intihar oranının erkeklerde daha yüksek olduğunu göstermiştir.

C)

Bu araştırmadan, kadınlar arasında depresyonun çok yaygın olduğu, ama  intihar oranının erkeklerde daha yüksek olduğu anlaşılmaktadır.

D)

Kadınlar daha sık depresyona girdiği halde neden intihar oranının erkek​lerde daha yaygın olduğu henüz açıklanamamıştır.

E)

Kadınlar daha sık depresyona girer​ken, intihar oranının erkeklerde daha yüksek olmasının çeşitli nedenleri vardır.

50-
We were all disappointed to discover that there were no tickets left for the concert..

A)

Konser için hiç bilet kalmadığını öğrenince hepimiz hayal kırıklığına uğradık.

B)

Hepimiz hayal kırıklığı içinde konser için hiç bilet kalmadığını öğrendik.

C)

Hiçbirimiz konser için bilet bulamayacağımızı düşünmemiştik bu yüzden hayal kırıklığına uğradık

D)

Konser için bilet bulamayışımız bizi hayal kırıklığına uğrattı.

E)

Konser biletlerinin bittiğini öğrenince herkes hayal kırıklığına uğradı.

51-54. soruları, Türkçeden İngilizceye  çeviriniz.

51-
Yerel fabrika kapatılınca bölgedeki pek çok insan işsiz kaldı.

A)

Many people in the region have been unemployed since the local factory was closed down.

B)

The reason for the increased unemployment in the region was that the local factory had been closed down. 

C)

The closure of the local factory caused a lot of people to lose their jobs. 

D)

Many people left the region after the closure of the local factory as there was serious unemployment.

E)

A lot of people in the district were left unemployed when the local factory was closed down.

52-
Okul kütüphanemiz, içerdiği kitap​ların sayısı ve niteliği bakımından öğrencilerin ihtiyaçlarını karşıla​yacak yeterlikte değildir. 

A) 

The books in our school library are so low both in number and in quality that it doesn’t respond to the needs of the students.

B)

Our school library should be  enlarged so that it can meet the requirements of the students.

C) 
In terms of the number and the quality of the books it contains, our school library is not adequate to meet the students’ requirements.

D)

In order to respond to the needs of the students, the school library must contain mare, better quality books.

E)

There are not enough books in our school library, nor are they of high enough quality to meet the students requirements.

53-
Onun gibi genç bir yazarın kitaplarında bu kadar eski bir dil kullanmasına çok şaşırdım.

A)

I’m really surprised that a young author like him used such an old-fashioned language in his books.

B)

His using such an old-fashioned language in his books despite his young age surprised me a great deal.

C)

It’s really surprising to see that he uses such an old-fashioned language in his books although he is very young.

D)

A young author like him shouldn’t use such a surprisingly old-fashioned language in his books

E)

I found the language he used in his books rather old-fashioned, conside​ring his young age.

54-
Hala garanti altında olduğundan bulaşık makinesinin onarımı için ödeme yapmak zorunda kalmadık.

A)

Being still under guarantee, our dishwasher was repaired free of charge, and thus we didn’t have to pay anything.

B)

Since the dishwasher is still under guarantee, we won’t have to pay for the repair.

C)

We wouldn’t have bad to pay for the repair of the dishwasher if it had still been under guarantee.

D)

We didn’t have to pay for the repair of the dishwasher as it was still under guarantee.

E)

Knowing that the dishwasher was still under guarantee, we didn’t pay anything for the repair.

55-57. soruları aşağıdaki parçaya göre cevaplayınız.

In today’s society, parchment— that antique

material of communication and ancestor of paper — is scarcely used at all. The illuminated manuscript, a precious link with the world’s great past, is  nowadays the exclusive preserve of the historian and other academies. Nevertheless, up until even fifty years ago, parchment was still used for diplomas and important charts. However, at present, even at specialized exhibitions, there is no possibility of seeing a demonstration of parchment making, and the information that does exist on the craft and its skills is handed down theoretically, by people with no practical experience.

55-
It is stated in the passage that paper……

A) 
was first used about fifty years ago

B) 
is easier to make than parchment 

C)
cannot be used for important charts or diplomas 

D)
is not liked by historians and academics

E) 
was developed from parchment

56-
According to the passage, currently ……

A) 

parchment is only used for diplomas and special charts

B) 

there is nobody who actually makes parchment any more

C)

demonstrations of parchment  making are only found at exhibitions

D)

there are very few craftsmen left who are skilled enough to make parchment

E)

historians and academics are the only people who continue to make parchment 

57-
We can infer from the passage that ………

A)

illuminated manuscripts were written on parchment

B)

historians and academics don’t allow anyone else to use parchment 

C)

it doesn’t take much practice to become good at making parchment 

D) 
much of the antique parchment has been destroyed


E) 

there are a lot of books about the art of parchment making


58-60. soruları aşağıdaki parçaya göre cevaplayınız.

‘Crime and Punishment’ is the first of Dostoevsky’s five large works and it reveals the author’s mastery of psychological observation and analysis and has its roots in the author’s own experiences of life. The story concerns the life and evil doings of a

poor student, Raskolnikoff. Raskolnikoff thinks deeply about his own poverty and that of his mother and young sister and finally decides to murder an old woman money-lender. He creates a complicated mental plan to justify his crime to himself, but as in many of Dostoevsky’s stories, the plan goes horribly wrong.

58-
It’s stated in the passage that ‘Crime and Punishment’    ……………

A)
is one of the best detective stories ever written

B)

has been analysed by many psychologists

C)
is famous for its size and creative language

D)
partly reflects the author’s own life 

E) 

puts mental pressure on those who read it

59-
‘Crime and Punishment’ is about ………

A)

the conflicts between the rich and the poor of the time

B) 

a person studying psychology and thus analysing people from this point of view

C)

the death of an old woman who becomes rich through money-lending

D)

the psychological reasons for one person’s killing another

E)

a young man who tries to escape poverty by killing someone rich

60-
In the book ‘Crime and Punishment’, Raskolnikoff     ……………

A)

invents excuses in his mind so as not to feel guilty about the murder

B)

gives up his plan to kill the old woman when she agrees to lend him some money

C) 
is discouraged by his mother and his sister from killing anyone for money

D) 
commits murders one after another once he’s killed the money-lender

E)
is helped by his mother and his sister in planning the murder of the old woman

61-63. soruları aşağıdaki parçaya göre cevaplayınız.

“Fill your tank with sunlight, water and earth”, say the posters for Bio-Diesel — an adapted form of plant oil that can be used in cars. The advertising is designed to appeal to the consciences of Germany’s environmentally-minded drivers. Will the idea be accepted? Both Greens and the energy industry would love to know. Bio-Diesel’s fans say that it is a renewable source of energy and that exhaust  fumes from cars using it are far lower than those from oilier cars. In addition, they say, Bio -Diesel is cheaper.

61-
According to the passage, Bio-Diesel ……

A) 
is a fuel for cars created through solar energy ​

B)

is very convenient for farmers who have plenty of plants in their fields

C) 
is an alternative form of transport which removes cars from the roads

D)

is made from substances less harmful to the environment than ordinary petrol

E)

will soon begin a worldwide advertising campaign

62-
The passage suggests that ……………

A) 

both environmentalists and energy industrialists have researched Bio-Diesel thoroughly 

B)

Bio-Diesel becomes cheaper when it is added to ordinary petrol 

C)

the advertisements for Bio-Diesel exaggerate its efficiency

D)

environmentalists designed the poster for Bio-Diesel

E)

the outcome of the advertising for Bio-Diesel is, as yet, unknown 

63-
From the passage, we can conclude that ………

A) 

cars which use Bio-Diesel are cheaper to buy than other cars 

B)

cars which use renewable energy sources ate gaining in popularity in Germany 

C)

Bio-Diesel is financially more competitive and environmentally less polluting than other fuels

D) 
Bio-Diesel cars will have a special system to reduce the amount of exhaust fumes 

E)

the main reason that Bio-Diesel will be popular is that manufacturers can produce it cheaply

64-66. soruları aşağıdaki parçaya göre cevaplayınız.

Miss Miller appeared to be in the best humour with everything. She declared that the hotels were very good, when you got used to them, and that Europe was perfectly sweet. She was not disappointed — not a bit. Perhaps it was because she had heard so much about it before. She had so many close friends that had been there ever so many times. And then she had ever so many dresses and things from Paris. Whenever she put on a Paris dress, she felt as if she were in Europe. The only slight cloud that she could see about her trip to Europe was being away from the social activities she was so accustomed to in America.

64- 
According to the passage, Miss Miller……       

A)
enjoyed Europe except for the hotels 

B) 

was a bit disappointed at what she encountered in Europe

C)

thought that Europeans were sweet when you got to know them

D)
found Europe exactly as she expected

E)

was used to the European sense of humour and life-style

65- 
The passage states that Miss Miller ………

A)

had been told a lot about Europe before her visit there

B)

had many close European friends who helped her

C)
had been to Paris specifically to buy clothes

D)

had been warned about the hotels by American friends 

E)

had bought many presents in Paris to send to her friends

66-
During her trip to Europe, Miss Miller……    

A)
visited all the fashion centres in Europe

B)

complained about the lack of stylish clothes in her own country

C)

found the hotels to be a better standard than those in America

D)
missed the social activities in her own country

E) 

tried to join in as many social activities as she could 

67-69. soruları aşağıdaki parçaya göre cevaplayınız.

Desalination, or desalting, the conversion of saline water to fresh water, is a technique that is increasingly used where freshwater supplies are insufficient. In the mid 1980s, more than 1500 desalination plants throughout the world, many of which were situated in the Middle East, were producing a total of more than 7.5 billion litres of fresh water per day from saline waters. Desalination is accomplished through distillation, freezing, demineralisation by ion exchangers, electro dialysis, or reverse osmosis.

67-
It’s stated in the passage that   ……………    

A)

distillation is the best way of converting saline water to fresh water

B)

various methods are used to obtain fresh water from saline water

C)

many areas in the Middle East lacked fresh water in the 1980s

D)

7.5 billion litres of fresh water have so far been obtained through desalination

E)

desalination plants around the world are not sufficient in number

68-
The fact that many of the world’s existing desalination plants are in the Middle East indicates that ……………         

A)
the countries there have the best technology

B)

the average temperature in this area is above freezing point

C)

the region is short of freshwater resources

D)

the water of the seas surrounding this region is more suitable for desalination than elsewhere

E)

this area of the world produces many accomplished individuals

69-
The figure ‘7.5 billion’ refer to the number of litres of water  ……………       

A)

converted from saline water daily around the world in the mid- 1980s

B)
which are used in the world per day

C)

which have so far been obtained at the desalination plants throughout the world

D)

obtained annually through desalination in the Middle East

E)

that the desalination plants in the Middle East can process daily

70-72. soruları aşağıdaki parçaya göre cevaplayınız.

Abstract art is generally taken to mean painting and sculpture by artists who are not trying to represent any specific object. In my opinion, however, all art is abstract to some degree: that is, it is removed from the perceived elements of nature. The sculpture of ancient Greece, of Egypt. and of primitive tribes, for example, used simplified, often geometricised forms. The term abstract art, therefore, should be used to refer to a main line of development that only began in this century with the desire in modern art to express inner life in pictures. Abstract art’s beginnings can be traced to James McNeil Whistler’s ‘art for art’s sake’ theory.

70-
In its general meaning, a work of art is abstract if it ……………          

A)
resembles the works of ancient times

B)

is not intended to look like a known object

C)

depicts general outlook rather than one specific object

D)
shows objects in geometricised forms

E)
belongs to this century

71-
For the author, the term abstract art  ……         

A)

should be applied mainly to the sculpture of ancient Greece and Egypt

B)

mostly represents the works created by primitive tribes

C)
has been misunderstood for many centuries

D)

is best used to refer only to certain developments in the 20th  century

E)

should only be used to refer to the work of James McNeill Whistler

72-
The author argues that James McNeil Whistler’s theory of “art for art’s sake”…

A)
was a continuation of primitive trends in art

B)

encouraged artists to paint simplified forms of objects

C)

resulted from the artist’s attempt to fit the outer world into his inner life

D)

was keenly followed by those artists suffering inner conflicts

E)
started the movement Into abstract art

73-75. soruları aşağıdaki parçaya göre cevaplayınız.

The Titanic, a British passenger liner, struck an iceberg off Newfoundland ,on the night of April 14-15, 1912, and sank. The ship, the largest and most luxurious built up to that time, was on its maiden voyage from Southampton to New York, carrying more than 2,200 people, about 1,500 of whom drowned. Official inquiries determined that the Titanic was travelling too fast for the known icy conditions. The failure of a nearby ship, allegedly the Californian, although her presence was never proved, to respond to the distress signals, and an insufficient number of lifeboats at the Titanic were both held responsible for the large loss of life. The shipwreck prompted international agreements for better safety procedures at sea.

73-
It’s stated in the passage that ……………         

A)

a ship as large and luxurious as the Titanic could never be built again 

B)
the Titanic sank during her first voyage

C)

the number of passengers on board the Titanic was too great for her capacity


D)

the Titanic was attacked off Newfoundland

E)

April was not a suitable month for a safe crossing

74-
When the Titanic sank      ……………      

A)

nations agreed to improve safety measures at sea

B)

another vessel, the Californian, was sent to rescue her

C)

an international team was formed to inquire  into the causes of the disaster

D)

the Californian was too far from the scene to help her

E)

about 1,500 of the 2.200 passengers were rescued

75-
It has been suggested that one reason for the large loss of life in the disaster was that ………

A)

the lifeguards on board the Titanic were not sufficiently trained

B)

most of the passengers were killed during the crash because of the vessel’s extreme speed

C)

there were no other ships near the Titanic to respond to her calls for help

D)

the Californian overlooked the distress signals from the Titanic and didn’t help her

E)

the known icy conditions were too severe for those on the lifeboats to survive

76-80. sorularda, verilen cümleye anlamca en yakın olan seçeneği bulunuz.

76-
He might have forgotten the place you’d arranged to meet at.
A) 

Perhaps he didn’t remember where you were going to meet.

B)

He must have forgotten where it was that you met previously.

C)

You planned to meet him at a place that he’d forgotten about.

D)

He couldn’t remember where the meeting place was.

E)
He didn’t remember meeting you at that place.

77-
None of his classmates can compete with him as regards his mathematical genius.

A)

He is in competition with his class​mates for the position of mathematical genius.

B)

In competitions, he usually beats the others in his class when the subject is maths.

C)

Nobody in his class considers him to be a genius at maths.

D)

Most of the others in his class are only level with him in mathematics.

E)

In mathematics, he is by far the best in his class.

78-
Using this type of computer is nothing new to me.

A)
I’ve definitely seen this kind of computer before.

B)
I’m used to working with a computer like this.

C)

This computer I’m using isn’t anything like my old one.

D)

Using this sort of computer for the first time doesn’t bother me.

E) 
I’m familiar with many types of computer.

79-
No sooner had we signed the contract than we began to feel it was a mistake.

A)

Soon, it turned out that we’d made a mistake by signing a contract.

B)

It didn’t take us long to become aware of the mistake in the contract.

C)

We discovered a mistake in the contract as soon as we’d signed it.

D)

Immediately after we’d done it, we started to think that we shouldn’t have signed the contract.

E)

We thought there was an error in the contract, so we didn’t sign it until later,

80-
You should wait for at least an hour after eating before you go swimming.

A)

It’ll be at least sixty minutes before you can go swimming as you’re eating now.

B)

It is highly advisable to take at least an hour’s swim before meals.

C)

Don’t wait more than sixty minutes to eat if you’ve been swimming.

D)

You ought to wait for an hour to go swimming as we’re about to eat.

E)

It isn’t advisable to go swimming within sixty minutes of eating.

81-85. sorularda parçada boş bırakılan yere uygun düşen ifadeyi bulunuz.

81-
…………… As a result, people are switching from traditional foodstuffs to healthy alternatives. These are preferably low in fat, easy to prepare and a good source of necessary vitamins and fibre.

A)

Nowadays, the quality of food in general is much better than previously 

B)

Restaurants in the city now offer a wide choice of speciality dishes from around the world

C)

The government has issued a warning that British meat may have been contaminated

D)
Poultry is a cheap substitute for beef



or lamb

E) 

Society is becoming increasingly conscious of the Importance of food and diet

82-
Having been a widow for ten years, the woman had welcomed the companionship of her new man-friend. ……………
However, her children did not see this and felt he was trying to replace their father in the household.

A) 

Unfortunately, they soon fell into conflict about how to treat the children 


B) 
From the beginner, they had both agreed on a simple friendship, with no romantic involvement

C)

To avoid complications, they kept the relationship secret and met In private away from the house

D)

Furthermore, he obviously knew how to treat the children as they all liked him immediately

E) 
They often went out together with the rest of the family to the cinema or theatre

83-
At 11 or 12 years of age, many boys go through a period of addiction to books with the same war- or- super-hero. …………… They wonder


how they could ever have enjoyed such simplistic and stereotypical situations, such a lack of originality, and are often glad that they have out-grown them.
A)

For some, this can continue until they are young adults and will show no signs of changing

B)

This does not matter, however, as they always have a better idea of what to watch on television instead

C)

Later, when they grow up and look back at what they used to read, this seems a strange choice to them

D)

Girls of a similar age do not usually suffer from the same kind of problem


E) 
Scenes of action and violence are obviously attractive to most men at any age

84-
Those people born between the 22nd of December and the 21st of January fall under the Zodiac sign ‘Capricorn’. In general, they are said to be ambitious, practical and adaptable by nature. …………… Having found them, though, they are supposed to be faithful to them.

A)

Other people may at times find them stubborn or hard-headed

B)

Indeed, many Capricorns refuse to be deterred by difficulties in their way

C) 
They are often particularly good at manual jobs such as carpentry and woodwork

D)

In the search for love, they can be highly selective about their choice of a partner

E) 

Certainly, they do not feel afraid to meet with new and possibly dangerous situations 

85-
Perhaps one of the most famous horror stories in history is ‘Frankenstein’, by Mary Shelley. Although it was written over 150 years ago, it is still as powerful and valid now as it was then. ……………        Despite these, it is only by reading the novel in its original that one can find the writer’s vision of horror in its purest and strongest form. 

A)

Through the ages, many different versions of the story have been written or performed

B)

At that time, many readers were shocked at the scenes of violence in the story

C)

Even nowadays, teachers often recommend the text to be read at school

D)

The main characters in the tale all have interesting and memorable aspects to their personalities

E)

Most of the action in the book takes place in foreign countries

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
Your mother always puts old bottles and Jars into the rubbish. You, however, are very concerned about the environment and about not wasting things which can be re-used. So, trying to make your mother more thoughtful, you say:

A)

If those bottles break, someone might cut themselves.

B)

I’m glad we don’t use plastic bottles as they cause a lot of damage.

C)

We should take our old glass containers to the bin for recycling in town.

D)

There’s so much pollution today and rubbish just adds to it.

E)

It’s about time more people thought about looking after their environment.

87-
You are taking a letter to a neighbour which arrived at your house by mistake. When he opens the door, you say:

A)
By the way, the postmen are on strike again.

B)

Could you please tell your friends to write your address clearly next time?

C)

I’ve never been to your house before. Can I have a look around?

D)
I see you’re getting plenty of mall these days.

E)
I think this is yours. It came this morning.

88-
You are with a friend, who is driving through a town neither of you is familiar with. Your friend assures you that she knows where she is going, however you think you have just gone past the same building for the second time. You say:

A)

Well, you seem to have an extremely good sense of direction.

B) 

Are you sure about the route? We appear to be going round in circles.

C)

Don’t worry, I know where we are. I checked it on the map earlier.

D)

I’m glad I’m not driving, or we would be completely lost by now. 

E)

Why don’t you let me drive? I know this area better than you. 

89-
You are lying on the beach with your friend. He is fast asleep and  you notice that he locks extremely red. So waking him up to warn him, you say:

A) 

You should be more careful. Someone might steal something while you’re asleep.

B)
Is my face red? It feels very hot to me.

C)

I think you should move Into the shade. You’re burning.

D)

Why don’t we go for a swim? It might cool us down.

E)

People should be very careful in the sun because it can cause skin cancer.

90-
Your friend is about to dye his hair because he is going a bit grey. You don’t think that this is a very good idea, so you gently try to discourage him by saying:

A)

Don’t be stupid. You’re getting older and you ought to accept it.

B)

Have you chosen which colour you want to dye your hair yet?

C)

I can’t believe you’re going grey when you’re only twenty-five.

D)

You know, a little grey hair on a man looks very attractive.

E)

Did you know that grey hair on young people is a sign of madness?

91-95. sorularda karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91-
Emma
: If you’re going to town,  could you 





bring me a loaf from the baker’s, 





please?


Sam
:  ……………


Emma
: Oh really! I didn’t know. Well, get 



it from the supermarket, then.

A)

I’m not going into town. I’m visiting my friend next door.

B)
I’m afraid I’ll have far too much to carry.

C)

Did you know that the baker is my cousin? 


D)

Actually, the baker’s has closed down. They went bankrupt.

E)

Only if you lend me your car. I’m not walking there.

92-
Claire
: My mother’s a chemist. What 



about yours? 


Fran
: ……………


Claire
: Mmm, that sounds interesting. 
I’ve got an ornament at home that needs mending — it is over 200 years old.
A)

She doesn’t work. She is a housewife, so she stays at home most of the time.

B)

Well, with four small children to bring up, she doesn’t have time for another job.

C)

She restores broken china. She’s even fixed vases for museums.

D)

She works at a jeweller’s in town. It doesn’t leave her much free time though.

E)

How much does she charge for a doctor’s prescription these days?

93-
Steve
: I read an interesting article in 





‘Cosmopolitan’ yesterday.


Darren: What was it about? 


Steve
: ……………


Darren: Yes, the situation is certainly 



serious. If something isn’t done, 



they will easily fall into the wrong 



hands.

A)

It seems that man terrorist organisations are trying to make or buy nuclear weapons.

B)

Research shows that nuclear power is the most economical option after all.

C)

A new epidemic is spreading through India. Apparently, it is caught from water. 

D)

There have been more protests in Germany. Even students are on strike.

E) 
Sport for disabled people; there aren’t enough facilities for people in wheelchairs.

94-
Katy
: Your hands look very red. What 




have you been doing?


Sue

: Just the washing-up, but I’m 



allergic to the liquid.


Katy
: ……………             


Sue

: I do normally, but they had holes 



in them. 

A) 
Have you tried any other brands?

B)
You ought to buy a dishwasher.

C) 
Why don’t you wear rubber gloves?

D)
I wonder what chemicals it contains.

E)

You can buy hypo-allergenic detergents, you know.

95-
Matthew: Have you seen Greg recently? 





Apparently he’s shaved all the hair 




off his head.


Paul
: ……………


Matthew: Well, he’s certainly taking the 



part very seriously then.


A)

He had an operation last week and the doctors did it.

B)
He probably thinks it’s fashionable these days!

C)

It seems you can swim faster if you don’t have any hair!

D)

Well, he spilt glue all over his head when he was redecorating his house

E)

I know. He’s playing the role of a bald man in the play.

96-100. sorularda, anlam bakımından parçanın 

bütünlüğünü bozan cümleyi bulunuz.

96-
I) Terry was really pleased when he received a personal organiser for his birthday. II)  He usually had difficulties, especially at work, as he was so busy from day to day. III) So the  doctor  had given him some medicine which calmed his nerves but tended to make him a little dizzy. IV) And he  often couldn’t remember what he had to do or when to do it. 


V) Now, it was no longer a problem because he could write and record everything clearly.

A)I 

B)II           C)III            D)IV             E)V

97-
I) As early as the 1960s, there was a strong awareness of environmental concerns. 


II) During this period many conflicts occurred between the younger and older generations in society. Ill) And this continued to gain momentum through the following three decades. IV) As a consequence, nowadays, most people are very sensitive to the issue and try to help the cause in one way or another. V) Examples of this can be as simple as glass-recycling or proper rubbish disposal.

A)I 

B)II           C)III             D)IV            E)V

98-
I) In Germany, the famous city of Dresden has an interesting but unfortunate history. 


II) The Prussians, during the 18th century, attacked the city with cannons, destroying many valuable buildings and treasures. 


III) Again, in World War II. the city suffered terrible losses after a devastating fire bomb attack by Allied Forces. IV) Still, the destruction was not as great as that caused in Hiroshima and Nagasaki. V) Today, the city has been totally rebuilt, so hardly any of Its former architecture remains.

A)I 

B)II           C)III             D)IV            E)V

99-
I) Computers help us in many ways, but they can also be harmful. II) Recently, fears have arisen that they may damage the personalities of young people using them. 


III) Some specialists say that, through repeated use, children can become ‘dependent’ on them. 
IV) In extreme cases, this can lead to distancing and alienation, both from parents and others their own age. 


V) Lack of communication between parents and children is therefore very great due to today’s rapid pace of life.

A)I 

B)II           C)III             D)IV             E)V
100-I) To keep warm and sleep comfortably out of doors, you need protective covering underneath as well as over you. II) This is because the ground is usually much colder at night. III) The best way to keep warm is to use a sleeping bag. IV) Different types of ground obviously cause different kinds of problems for putting up a tent. V) There are many different types, but the main things to consider when you buy one are filling, material and fastenings.

A)I 

B)II           C)III              D)IV             E)V

İNGİLİZCE DENEME SINAVI 12


1-	Cevap kağıdınızda  Yabancı dil bölümüne işaretleyiniz.


2-	Bu testte 100 soru vardır. Cevaplama süresi 150 dakikadır.


3-	Cevaplamaya istediğiniz sorudan başlayabilirsiniz.
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